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» My friend who live in Delhi has written me a letter
My friend who lives in Delhi has written me a letter
» Modern man is engross in mad pursuit.

Modern man is engrossed in mad pursuit.
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Sentence improvement

» The diver dive into the sea from a grew height.

The diver dived in the sea from a grew height.

Fillers — 2

> | like tea and coffee but prefer (latter)

» Hetriedto____ myring. (steal) \ | Q
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» Divide (Syno) a N OG
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> Expensive | ' o~
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> Bed of roses — simple situation LD W \1\
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Close Test : 5 Q. \ ‘

» Miss spelt — Creator, Choffle;r‘\ R o

MATHS LR e
Profit and Loss — Q1 R - ( \\'(\

Bodmas —> 1

O 2
(i) (60a)" + 36a’b” + (81b)" = gi(b
(ii) 4a° — 6ab + 9b% = 13 \/’O
Find <> 3ab ? O

Table DI —;‘I-Diff, @\A — Calculative

N\

Area new Square.
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708xyz — 6 digit number is divisible by 9, 11 FRa ™ \f‘)
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